

#24

$$\csc\left(6b + \frac{\pi}{8}\right) = \sec\left(2b - \frac{\pi}{8}\right)$$

$$\frac{1}{\sin\left(6b + \frac{\pi}{8}\right)} = \frac{1}{\cos\left(2b - \frac{\pi}{8}\right)}$$

$$\sin\left(6b + \frac{\pi}{8}\right) = \cos\left(2b - \frac{\pi}{8}\right)$$

$$\sin\left(\frac{\pi}{2} - \frac{3\pi}{8} + 6b\right) = \cos\left(2b - \frac{\pi}{8}\right) \quad \left. \begin{array}{l} \frac{\pi}{2} - \text{smth} \\ = \frac{\pi}{8} \end{array} \right\}$$

$$\sin\left(\frac{\pi}{2} - \left(\frac{3\pi}{8} - 6b\right)\right) = \cos\left(2b - \frac{\pi}{8}\right)$$

$$\cos\left(\frac{3\pi}{8} - 6b\right) = \cos\left(2b - \frac{\pi}{8}\right) = \frac{4\pi}{8} - \frac{\pi}{8}$$

$$\frac{3\pi}{8} - 6b = 2b - \frac{\pi}{8}$$

$$\frac{3\pi}{8} + \frac{\pi}{8} = 6b + 2b$$

$$\frac{4\pi}{8} = 8b$$

$$\frac{\pi}{2} = 8b$$

$$b = \frac{\pi}{16}$$

